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C25J1ID29

B.Com. (Semester-IT) (NEP) Examination, 2025
DISCIPLINE SPECIFIC COURSE (DSC)
BUSINESS ACCOUNTING

Time Allowed : Three Hours
Maximum Marks : 70

Note : This question paper is divided into two sections. Attempt
questions of all two sections as per direction. Distribution

of marks is given in each section. All sections are

compulsory.
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SECTION-A | @Us-3

( Objective Type Questions )
( aegfrs w1 )
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Note : Attempt all ten questions. Each question carries 1 mark.

[10x1=10]

T o9 N B OuR Al S9O% 999 1 36 @ B

: f (A)

(D

Choose the Correct Alternative :
Tl o g

Profit sharing ratio without agreement is :

@ 2:1
(b) 424
c)  3:2
d 4:1
mgqs?ﬁ%mﬁwmmgmaw%?
(2) AR
(b) 1:1
(c) 3:2
dy 4:1
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(ii) Death of partner leads to :
(a) Profit
(b) Admission
(c) Dissolution
(d) Bonus
el W gg F F B o
(@) .«
(o) AW |
(c) fames
(@) SN¥

(iii) Amalgamation means combining two or more :
(@) Companies
(b) Partners
(c) Firms
(d) Contracts
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(a) Il
(b)  STFERI
© T

(d) TRy

In hire-purchase, ownership transfers after?
(a) Agreement

(b) Down payment

(c) Final instalment

(d)  Firstinstalment

Pra-a1 H, @itg %4 ewiaRg o &7
(a) AT W

(b) A G

(c)  difem fope

(@ e [
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(v) In departmental accounts, departments are
divided when?

(a) Product differs

(b) Place differs

()  Manager differs

(d) Profit differs

R @t § Rert & 9earT F9 2 87
(a) IO Fear W

(b) ®F BT W

() g =T W

(d @9 R )

(B)  Fillin the blanks :

Rep =F & g &I
(vi)  Partnershipdeepisa agreement among
partners.
gard e Rl AT FE
el
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(vii)

(viii)

(ix)

)

Gaining ratio is calculated during partner’s

S ST B TOFT TR S B AR

H TR
On conversion, firm's assets are

tsﬁ%wﬁqﬂaﬁ:rq? qﬁab“rqﬁwﬁmr
2 B

In instalment system, ownership transfer

e ToTel H T iR BT Bl

Dependent branch records are maintained by
office.

AEE I Rk # TevEy
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( Short Answer Type Questions )

( @y wala uw )

Note: Attempt any five questions. Each question carries 4
marks. (Word limit : 200 words) [5x4=20]
%%r?raqmaswfm | S 9 4 gt gy B
(2 @ : 200 ic) i
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(i)

(ii)

(iv)

v)
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What is meant by a partnership firm?
AEE W § P AR 87

A, B and C are partners in proportionof 5:3: 2
respectively. D is admitted in the firm as partner
with 1/5th share. Calculate the new profit-sharing

ratio and sacrificing ratio.

A B3R C #EER & SR S7@ amidl S

FH: 5:3:2 5 DI 1/5REER & 9 ¢

ARER & &9 § i & it R @ 8 T
QY S SR @ S BT B
State any two modes of dissolution.

Res & o & R o=

What happens on default in hire-purchase

payment?

R S ¥ 9% a9 9 R A &7
What is meant by instalment purchase system?
Ry a0 SOl QT ARG 8P
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(v Name two main accounts of non-trading

institutions with examples.

IR St & A g Tl & W IeT
SIS ACRIE]

(vi)  Why are departmental accounts prepared by

organizations?

P g g
SECTION-B /| @9s-9

( Descriptive Answer Type Questions )
( aoFrs Sl 9 )

Note: Answer one question from each of the following four units.
Each unit has two questions, choose one to answer

descriptively. Each question carries 10 marks. (Wbrd

lzimit : 400 words) [4x 10'=4o]

Frefefiad = 3Eal & 4 o0d% ¥ % U @ ou}
S IR 9 | & U9 €, oo oue 3 & R

Pl BT A g A 9 10 S B B (R
HrT : 400 977)
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(i)

UNIT-1 / 3121

A and B are partners sharing profits and losses

~inthe ratio 3 : 2. C is admitted as a partnerand is

to be given 1/10th share of profits. C has to bring
% 40,000 as Capital and his share of goodwill.
The goodwill of the firm is valued at
% 50,000. The old partners withdraw full amount

of goodwill. Pass journal entries.

AR BERRR E S @ AR & 1 3:2F
T F died ¥ CH T Y WERK B B9 A

R B ST B @R S§ @F ¥ 110 BEN

Rer ST 81 C B < 40,000 G A A R
% =Ry (Goodwill ) T 31 FH B A A I
50,000 3t T &1 I TWEER (A AR B) A
# ot TR e A &1 AT S Haredl
T ST

OR / ¥gql

How is goodwill treated during admission of a new

partner? Explain with suitable examples.

T TEER 3 AV B WH S H B THR
J oEeR B o §? SugE SRl % 6
LE RN
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(i)

UNIT-1I / Salg-11.

A, B and C were partners in a firm. They share

profit and loss in the proportion of 4 : 4 : 2. Their

capitals are ¥ 1,25,000; ¥ 1,20,000 and ¥ 1,15,000

respectively. The firm wad dissplved on 31st

March, 2024. After having paid off all liabilities at
a discount of 10% for X 14,750 the balance of
cash was found to be ¥ 1,35,600. The realisation

expenses on dissolution were ¥ 1,600.

Prepare Opening Balance Sheet, Realisation
Alc, Capital A/cs and Cash A/c of a firm.

A, BIR CT% %1 § WEER &1 F @ ol e
B 4:4:2 % FIUA F e & ITH GO HAM:
% 1,25,000; % 1,20,000 &R % 1,15,000 &l TE
T 31 9, 2024 H g (o) wR G
F41 Al B P 14,750 9K 10% % G2
T HT oA T EEF A" T A9 2 1,35,600
o TN e (Dissolution) T uifg a7 <
1,600 I |

BH 2 T a9 e, ot @ (Realisation

Alc) Yoil @I (Capital Alcs) ol g @l
(Cash Arc) Tt e,
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(i)

OR / ¥4y

Why are partnership firms opting for Limited
Liability Company conversion? Support your

answer with a current business case.

Sl W dPE Y S ST & R
F g7 W &7 el A s e 6
T T B TG FIoT

UNIT-1II / SR~

On 1st April, 2020 the Jindal Traders Ltd., took
delivery of one Plant from Hind Motors Lid. On
Hire-Purchase Agreement, payable in three equal
instalments of ¥ 6,00,000 each on 31st March,
2021, 2022, 2023. The cash value of the Plant on
deliverywasX 1 6,34,000. Vendor charges interest
at 5 percent per annum on the yearly balances:
The purchaser wrote off 25 percent on the
diminishihg value as depreciation for each year
to 31st March. Pass the necessary journal entries

to record the above transactions in the books of

both the parties.
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1900 2020 H Ried I=6 RiftiRe ¥ e died
fiftee & o §99 B AR5 o=y & aed
aq e, foreeht g R <6,00,000 A
T A fhydl § 31 9, 2021, 2022 @)
2023 F1 3 el T B TR T T 16,34,000
o foshan AT W RN W 5 SR At =T
ST 81 Sl I3 a9 W 31 71 B g TR W
25 Aio9IT B W { WA B qoIR feaar B
SURD T2 B QA TR S bl A &7 e
% foq sTavgs T geRed g #fm
OR / &l

Which accounting entries are passed during
default and repossession under hire-purchase
system?
FrT-ie e % ke g o g 9 &
M FF-G G afifted ot @ o ¥
UNIT-IV / 3~V

(iv) Prepare Receipts and Payments Account of
Chetana Club, Rohtak for the year ended on 31st
March, 2025 : Cash Balance 1st April, 2024 ¥
4,390.
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Subscriptions received : Last year Z600; Current
year ¥ 33,000; Next year Z 4,000. Donation
received % 8,000; Entry fees T 4,300; Rent
received ¥ 5,250; Electric. charges T 3,440;
Wages % 500; Interest received T 2,950,
Insurance premium  310; Printing and stationery
Z350; Sundry expenses X 800: Salary T 16,000;
Honorarium to Secretary X 7,500; Rent of club
building ¥ 1,750 is accrued. Outstanding

expenses of printing and stationery is ¥ 150.

e T, e 31 A, 2025 3 FAE a4
3 R @E AR TEE @ G e 1
B, 2024 B TS AT T4,390 B FEEM LB
R af & % 600, I a4 F 33,000 T
T T & T 4,000 TG g FE B 78,000
& A, T 4,300 F ¥IA LD,
% 5.250 1 T AT T 2,950 F SN A G
ST % 3 3,440 [Tl T, %500 H9EL, 3310

S v, X 350 O W Ry, 7900 [
&4, 16,000 A T % 7,500 T F A

Ry Tran & Fa 3 1,750 Rerdl S ©
ww@@?ﬁfiﬂ?woﬁﬁam%l
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OR / 31941

When is a Receipts and Payments Account
prepared? lllustrate with a current institutional

example.

G T YT @ e qaR R S 87 O
9N RISV § HHEEU
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